Wednesday, 26th April, 2017
Early Morning Work

Speedy Maths - ANSWERS


	BRONZE
	Your working out: 

	1)
	569 231 – 72 928 = 496 303
	
	

	2)
	1496 ÷ 11 = 136
	
	

	3)
	4³ + 10 = 74
	
	

	4)
	1.67 – 0.4 = 1.27
	
	

	5)
	40% of 6500 = 2600
	
	

	SILVER
	

	1)
	1.86 x 12 = 22.32
	
	

	2)
	0.53 x 100 = 53
	
	

	3)
	2/5 ÷ 15 = 2/75
	
	

	4)
	40 ÷ (13 - 5) = 5
	
	

	5)
	16% of 800 = 128
	
	

	GOLD
	

	1)
	A rectangular garden has an area of 54m². The length is 9m. What is the width? 6m
	
	

	2)
	How many hours are there in a week? 168
	
	

	3)
	n – 45 = 128 
n = 173

	
	

	4)
	[bookmark: _GoBack]Convert 5.16pm to a 24 hour format: 17:16

	
	

	5)
	What is 0.25 as a simplified fraction?  1/4
	
	





Bronze =	 	/5
Silver = 		/5
Gold = 		/5
Total = 		/15
